
X[0] <= 0.5
mse = 1.065

samples = 26215
value = -0.001

X[17] <= 0.5
mse = 0.78

samples = 20540
value = 0.276

True X[16] <= 0.5
mse = 0.814

samples = 5675
value = -1.004

False

X[21] <= -1.0
mse = 0.171

samples = 1102
value = -0.106

X[21] <= 3.855
mse = 0.806

samples = 19438
value = 0.298

X[22] <= 0.5
mse = 0.177

samples = 298
value = -0.002

X[1] <= 0.5
mse = 0.163

samples = 804
value = -0.145

X[21] <= -1.154
mse = 0.139

samples = 227
value = -0.055

X[31] <= 0.5
mse = 0.256
samples = 71
value = 0.157

X[4] <= 0.5
mse = 0.125

samples = 168
value = -0.095

X[19] <= -1.146
mse = 0.162
samples = 59
value = 0.06

X[12] <= 0.5
mse = 0.13

samples = 152
value = -0.075

X[31] <= 0.5
mse = 0.045
samples = 16
value = -0.27

mse = 0.128
samples = 143
value = -0.093

mse = 0.083
samples = 9
value = 0.209

mse = 0.033
samples = 11
value = -0.19

mse = 0.022
samples = 5

value = -0.459

X[21] <= -1.15
mse = 0.12
samples = 7
value = 0.53

X[21] <= -1.044
mse = 0.124
samples = 52
value = -0.023

mse = 0.061
samples = 4
value = 0.233

mse = 0.049
samples = 3
value = 0.753

mse = 0.116
samples = 39
value = -0.079

mse = 0.109
samples = 13
value = 0.147

X[19] <= -1.521
mse = 0.165
samples = 62
value = 0.101

X[2] <= 0.5
mse = 0.691
samples = 9
value = 0.514

mse = 0.0
samples = 1

value = -1.154

X[21] <= -1.005
mse = 0.151
samples = 61
value = 0.114

mse = 0.142
samples = 60
value = 0.099

mse = 0.0
samples = 1
value = 0.853

X[7] <= 0.5
mse = 1.869
samples = 2
value = 1.256

X[3] <= 0.5
mse = 0.054
samples = 7
value = 0.266

mse = 0.0
samples = 1
value = 2.623

mse = -0.0
samples = 1

value = -0.111

mse = 0.014
samples = 3

value = -0.016

mse = 0.014
samples = 4
value = 0.407

X[26] <= 0.5
mse = 0.115
samples = 48
value = -0.354

X[29] <= 0.5
mse = 0.163

samples = 756
value = -0.13

X[22] <= 0.5
mse = 0.121
samples = 41
value = -0.39

X[13] <= 0.5
mse = 0.005
samples = 7

value = -0.107

X[7] <= 0.5
mse = 0.111
samples = 39
value = -0.412

X[20] <= 0.5
mse = 0.073
samples = 2
value = 0.137

mse = 0.091
samples = 38
value = -0.395

mse = -0.0
samples = 1

value = -1.644

mse = 0.0
samples = 1
value = 0.519

mse = -0.0
samples = 1

value = -0.053

X[10] <= 0.5
mse = 0.004
samples = 6

value = -0.087

mse = 0.0
samples = 1

value = -0.198

mse = 0.003
samples = 3

value = -0.141

mse = 0.002
samples = 3
value = -0.06

X[21] <= 1.275
mse = 0.144

samples = 477
value = -0.087

X[19] <= 1.989
mse = 0.185

samples = 279
value = -0.2

X[18] <= 0.5
mse = 0.147

samples = 428
value = -0.072

X[16] <= 0.5
mse = 0.096
samples = 49
value = -0.227

mse = 0.159
samples = 258

value = -0.1

mse = 0.126
samples = 170
value = -0.027

mse = 0.092
samples = 48
value = -0.24

mse = 0.0
samples = 1
value = 0.248

X[22] <= 0.5
mse = 0.177

samples = 268
value = -0.185

X[18] <= 0.5
mse = 0.233
samples = 11
value = -0.623

mse = 0.167
samples = 196
value = -0.227

mse = 0.184
samples = 72
value = -0.066

mse = 0.086
samples = 6

value = -0.946

mse = 0.115
samples = 5

value = -0.208

X[21] <= 1.491
mse = 0.792

samples = 19435
value = 0.296

X[16] <= 0.5
mse = 29.634
samples = 3
value = 5.97

X[16] <= 0.5
mse = 0.768

samples = 18142
value = 0.314

X[21] <= 2.482
mse = 1.055

samples = 1293
value = 0.044

X[19] <= -0.43
mse = 0.501

samples = 17511
value = 0.304

X[6] <= 0.5
mse = 8.3

samples = 631
value = 0.626

X[2] <= 0.5
mse = 0.352

samples = 7948
value = 0.357

X[1] <= 0.5
mse = 0.621

samples = 9563
value = 0.258

mse = 0.423
samples = 3710
value = 0.313

mse = 0.287
samples = 4238
value = 0.396

mse = 0.735
samples = 496
value = 0.019

mse = 0.612
samples = 9067
value = 0.272

X[21] <= 1.481
mse = 4.803

samples = 619
value = 0.525

X[5] <= 0.5
mse = 157.483
samples = 12
value = 5.717

mse = 4.595
samples = 618
value = 0.51

mse = 0.0
samples = 1

value = 14.741

mse = 244.966
samples = 3

value = 21.629

mse = 3.525
samples = 9
value = 0.034

X[16] <= 0.5
mse = 1.059

samples = 1134
value = 0.093

X[10] <= 0.5
mse = 0.892

samples = 159
value = -0.303

X[21] <= 1.512
mse = 0.632

samples = 1060
value = 0.057

X[2] <= 0.5
mse = 6.828
samples = 74
value = 0.59

mse = 0.789
samples = 51
value = -0.302

mse = 0.618
samples = 1009
value = 0.075

mse = 9.723
samples = 45
value = 1.428

mse = 0.68
samples = 29
value = -0.543

X[1] <= 0.5
mse = 1.011
samples = 65
value = -0.63

X[25] <= 0.5
mse = 0.687
samples = 94
value = -0.078

mse = 0.483
samples = 11
value = -1.437

mse = 0.949
samples = 54
value = -0.448

mse = 0.794
samples = 71
value = -0.184

mse = 0.241
samples = 23
value = 0.233

X[19] <= 4.626
mse = 1.269
samples = 2

value = -0.258

mse = 0.0
samples = 1

value = 10.641

mse = 0.0
samples = 1
value = 0.539

mse = 0.0
samples = 1

value = -1.851

X[19] <= 2.01
mse = 0.577

samples = 5026
value = -1.055

X[19] <= -1.426
mse = 2.466

samples = 649
value = -0.604

X[1] <= 0.5
mse = 0.584

samples = 4685
value = -1.042

X[19] <= 2.126
mse = 0.443

samples = 341
value = -1.232

X[21] <= 0.222
mse = 0.384

samples = 292
value = -1.21

X[26] <= 0.5
mse = 0.595

samples = 4393
value = -1.032

X[21] <= -1.138
mse = 0.483

samples = 163
value = -1.133

X[26] <= 0.5
mse = 0.235

samples = 129
value = -1.313

X[20] <= 0.5
mse = 0.187
samples = 34
value = -1.449

X[21] <= -1.129
mse = 0.525

samples = 129
value = -1.056

mse = 0.193
samples = 29
value = -1.392

mse = 0.007
samples = 5

value = -1.795

mse = 0.292
samples = 2
value = 0.314

mse = 0.501
samples = 127
value = -1.076

X[19] <= 1.95
mse = 0.208
samples = 98
value = -1.361

X[21] <= 0.328
mse = 0.29

samples = 31
value = -1.159

mse = 0.207
samples = 95
value = -1.381

mse = 0.01
samples = 3

value = -0.892

mse = 0.0
samples = 1

value = -0.034

mse = 0.243
samples = 30
value = -1.21

X[17] <= 0.5
mse = 0.618

samples = 3605
value = -1.011

X[19] <= -0.602
mse = 0.48

samples = 788
value = -1.122

X[19] <= 0.929
mse = 0.151

samples = 139
value = -0.869

X[10] <= 0.5
mse = 0.638

samples = 3466
value = -1.018

mse = 0.158
samples = 113
value = -0.828

mse = 0.076
samples = 26
value = -1.055

mse = 0.553
samples = 1519
value = -1.051

mse = 0.701
samples = 1947
value = -0.992

X[21] <= -0.712
mse = 0.565

samples = 182
value = -0.985

X[3] <= 0.5
mse = 0.45

samples = 606
value = -1.16

mse = 0.517
samples = 157
value = -1.046

mse = 0.694
samples = 25
value = -0.582

mse = 0.331
samples = 269
value = -1.243

mse = 0.537
samples = 337
value = -1.091

X[6] <= 0.5
mse = 0.237
samples = 87
value = -1.397

X[19] <= 2.129
mse = 0.498

samples = 254
value = -1.179

X[14] <= 0.5
mse = 0.225
samples = 86
value = -1.412

mse = 0.0
samples = 1

value = -0.421

X[3] <= 0.5
mse = 0.248
samples = 75
value = -1.375

X[3] <= 0.5
mse = 0.041
samples = 11
value = -1.629

mse = 0.326
samples = 46
value = -1.293

mse = 0.105
samples = 29
value = -1.497

mse = 0.004
samples = 4

value = -1.776

mse = 0.043
samples = 7

value = -1.543

X[19] <= 2.128
mse = 2.279
samples = 2
value = 1.399

X[2] <= 0.5
mse = 0.435

samples = 252
value = -1.198

mse = 0.0
samples = 1

value = -0.736

mse = 0.0
samples = 1
value = 2.467

X[17] <= 0.5
mse = 0.326

samples = 188
value = -1.28

X[21] <= 2.332
mse = 0.679
samples = 64
value = -0.961

mse = 0.27
samples = 12
value = -0.993

mse = 0.323
samples = 176
value = -1.299

mse = 1.157
samples = 20
value = -0.571

mse = 0.402
samples = 44
value = -1.117

X[19] <= -1.429
mse = 7.101
samples = 9
value = 1.895

X[30] <= 0.5
mse = 2.359

samples = 640
value = -0.629

X[25] <= 0.5
mse = 4.52
samples = 7
value = 0.752

X[19] <= -1.428
mse = 2.96
samples = 2
value = 4.563

X[21] <= -1.473
mse = 0.538
samples = 6
value = -0.07

mse = 0.0
samples = 1
value = 5.687

X[29] <= 0.5
mse = 0.092
samples = 2
value = 0.812

X[10] <= 0.5
mse = 0.178
samples = 4

value = -0.511

mse = 0.0
samples = 1
value = 0.509

mse = 0.0
samples = 1
value = 1.115

mse = 0.019
samples = 2

value = -0.885

mse = 0.056
samples = 2

value = -0.137

mse = 0.0
samples = 1
value = 6.996

mse = -0.0
samples = 1
value = 3.346

X[21] <= -1.355
mse = 2.704

samples = 446
value = -0.521

X[19] <= 0.804
mse = 1.55

samples = 194
value = -0.857

X[2] <= 0.5
mse = 10.542
samples = 4
value = 1.182

X[6] <= 0.5
mse = 2.579

samples = 442
value = -0.541

mse = 0.0
samples = 1
value = 6.796

X[4] <= 0.5
mse = 0.051
samples = 3

value = -0.689

mse = 0.0
samples = 2
value = -0.53

mse = 0.0
samples = 1

value = -1.008

X[27] <= 0.5
mse = 2.516

samples = 439
value = -0.554

X[21] <= -0.321
mse = 7.273
samples = 3
value = 1.011

mse = 2.919
samples = 262
value = -0.444

mse = 1.824
samples = 177
value = -0.73

mse = 0.0
samples = 2

value = -0.896

mse = 0.0
samples = 1
value = 4.825

X[8] <= 0.5
mse = 1.005

samples = 117
value = -1.035

X[19] <= 1.642
mse = 2.232
samples = 77
value = -0.597

X[18] <= 0.5
mse = 1.197
samples = 87
value = -0.91

X[19] <= 0.157
mse = 0.278
samples = 30
value = -1.393

mse = 0.556
samples = 37
value = -1.147

mse = 1.598
samples = 50
value = -0.737

mse = 0.078
samples = 17
value = -1.551

mse = 0.471
samples = 13
value = -1.175

X[19] <= 1.599
mse = 2.741
samples = 49
value = -0.294

X[21] <= 2.09
mse = 1.194
samples = 28
value = -1.027

mse = 1.805
samples = 48
value = -0.455

mse = 0.0
samples = 1
value = 5.815

mse = 1.824
samples = 16
value = -0.788

mse = 0.211
samples = 12
value = -1.335


